I NO.8

(2) No.8

8.1. Q[v2] = Q[X]/(X* - 2)Q[X]

8.2. Q Z[1/5] ={m/5";m € Z;n=0,1,2,...

Q

8.3.
(5X — 1)Q[X] N Z[X] = (5X — 1)Z[X]

8.4.
Z[1/5] = Z[X]/(5X — 1)Z[X]

8.5. R I X

RIX]/IR[X] = (R/I)[X]
86. S R S I
R+I={r+areRacl}

S
8.7. S R S 1
S=R+1I, RNI=0
S/I=R
8.8. fiR—S J S
7). R
8.9. f:R—S I R
fa s (
)f
8.10. Z/7Z 0
8.11. K K[X,Y]/XK[X,Y] = K[Y]
8.12. S R P S
PNR R
8.13. R I I-1 I?
J R I+J=R I’+J*=R
8.14. R a,b
(1) alb ( ceR b=ac )

aR C bR



(2)a b ( alb bla )
aR =bR
8.15. R aX?+bX +c R[X]
b> —dac <0
8.16. Z/7Z X?—a(a=0,1,...,6)

a

8.17. 2100000 77

8.18. n f,9€
ClX]

(1+X)f(X) + X"g(X) =1



